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TAT pom |1 Q1 | ©1 | «©1 | @1 | 01 | ©01 | 01 | <01
AT 5 ppm | 0.002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
Bt pom | 0.02 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002
HEAT pom | 0.01 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001
A ppm | 0.009 | <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009
NAFITE ppm | 0.005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
T EF pom | 0.05 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005
7R AIF LR | pom <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005
T BT R | pom <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009
L7 TN | pom <0.002 | €0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002
DR T ER | pom <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009
U ER | pom <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
175 pom 0.09 | <0.09 | <0.09 | <0.09 | <009 [ <009 [ <009 | <009
BT pom 03 | 03 | 03 | «©3 | 03 | 03 | 03 | <03
AT AL | pom Q1 | ©1 | ©1 | Q1 | 01 | ©01 | 01 | <01
My ppm <1 N <1 <1 <1 N <1 <1
Xy pom | 0.4 | <0.04 | <0.04 | <0.04 | <0.04 | <0.04 | <0.04 | <0.04 | <004
£y pom Q1 | ©1 | ©1 | Q1 | 01 | 01 | 01 | <01
7 ot 4Bk pom | 0.03 | <0.003 | <0.003 | <0.003 | <0.003 | <0.003 | <0.003 | <0.003 | <0.003
JIRVERH ppm | 0.001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
DIRVEEES ppm | 0.0009 | <0. 00009 | <0. 00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
WCE ppm | 0.001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
REE <10 <10 <10 <10 <10 <10 <10 <10
A (7 it it it = = it it
S ws 1.2 | 05 | 07 | <05 | 08 1.3 1.5 | <05
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